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QUESTION 1

Which element of the HPE Synergy 12000 Frame protects against loops on the MGMT ports that are connected to the
external management network? 

A. Image Streamer 

B. Frame Link Modules 

C. Interconnect Modules 

D. Composer 

Correct Answer: A 

 

QUESTION 2

Using composable features, what should a Synergy integrator do to resolve high memory utilization on an HPE Synergy
compute module? 

A. Use the API to optimize the memory allocation from the HPE Synergy fluid resource pool. 

B. Increase the allocated physical memory from the HPE Synergy fluid resource pool, and then reboot the compute
module. 

C. Take a small outage and reassign the HPE OneView server profile to a higher capacity compute module. 

D. Increase the reversed physical memory in the Server Profile (SP), and then reapply. 

Correct Answer: B 

 

QUESTION 3

A customer has the following configuration: 

15 Synergy Frames with 150 HPE SY 480 Gen9 compute modules 

15 HPE Synergy D3940 storage modules with 40 disks each 

10 Image Streamers 

10 HPE Synergy Virtual Connect SE 40Gb F8 modules 

20 20Gb Interconnect Link Modules 

During setup, how many enclosures should the Synergy integrator select for the Logical Interconnect Group ((LIG)? 

A. 5 enclosures 

B. 10 enclosures 
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C. 15 enclosures 

D. 20 enclosures 

Correct Answer: A 

 

 

QUESTION 4

What should a Synergy integrator do to resolve an unresponsive HPE Synergy Frame Link Module? 

A. Press the reset button on the front of the HPE Synergy Frame. 

B. Remove and reinstall the Frame Link Module in the original bay. 

C. Remove and reinstall the Composer. 

D. Disconnect and reconnect the Frame Link Module from the management network. 

Correct Answer: B 

 

QUESTION 5

HOTSPOT 

A Synergy integrator has installed a new frame into a rack with two existing frames in the customer\\'s environment.
Click where the integrator should verify that the cabling for the management ring was completed correctly. 

Hot Area: 

Correct Answer: 
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